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BACHELOR'S DEGREE 
PROGRAMME/CES 

Term-End Examination 

June, 2011 

(APPLICATION ORIENTED COURSE) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt 9 questions in all. Question no. 1 is 

compulsory. 

1. 	(a) Define the following terms : 	 1x5=5 

(i) Biotic Potential. 

(ii) Poaching. 

(iii) Carrying Capacity. 

(iv) Biological Control of Pest. 
C.) 	 (v) Urbanization. 
0°) 
CD 	(b) Fill in the blanks : 	 1x5=5 

(i) Energy enters ecosystem as 

	 energy. 

(ii) Study conducted about the 

distribution of disease or health 

hazard in the human population is 

termed as 
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(iii) Progressive degeneration of liver in 

alcoholics is known as 	 

(iv) 	 is a product of incomplete 

combustion of fuels. It reduces the 

oxygen carrying capacity of the blood. 

(v) Aflatoxin B is a potent 

Indicate whether the following statements 

are true or false : 	 1x5=5  

(i) Humans extracting natural resources 

at a fast rate cause imbalance in 

natural environment. 

(ii) The concentration of nitrogenous 

matter in soil will be greater if legumes 

are grown in it regularly. 

(iii) Biological magnification is a term used 

to describe the increase in size of an 

organism after it consumes large 

amount of toxic substances. 

(iv) Land covers 75% of the earth's 

surface. 

(v) Biofertilizers are environmentally safe 

replacements for inorganic fertilizers. 

(d) Give answer in one word/sentence only : 1x5=5 

(i) Soils that contain excessive amount of 

sodium chloride and sodium sulphate. 

(ii) An ecosystems, where fresh water 

from rivers meets Ocean water and 

two are mixed by action of tides. 

AlE-01 	 2 



(iii) The amount of oxygen required by 

microorganism to decompose the 

organic waste in per unit volume of 

water at a given temperature in a given 

time. 

(iv) An ingredient present in food which 

is injurious to health. 

(v) A method of improving land quality 

by growing leguminous crops 

alternating with other crops on the 

land. 

2. (a) 	Describe briefly the Biotic Components of 	6 

Ecosystem. 

(b) With the help of a well labelled diagram 	4 
describe marine ecosystem. 

3. (a) 	Discuss the Benefits and harmful effects of 	6 

the use of High yielding varieties in 

agriculture. 

(b) 	List four major causes of desertification due 	4 

to human beings. 

4. What is the difference between toxic and 

hazardous waste ? Describe five ways of disposal 

of hazardous wastes. 	 2+8=10 
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5. 	What are communicable diseases ? With the help 

of examples write an account of modes of 

transmission of communicable diseases. 
	2+8=10  

6. (a) What is the goal of Wild Life 

Conservation ? 	 2+8=10  

(b) 	Write a brief account of various causes for 

Extinction of Wild Life. 

	

7. 	(a) Describe the Role of NGO's in imparting 	6 
Environmental Education. 

(b) Describe the role of Chipko movement and 	4 

Bombay Natural History Society (BNHS). 

	

8. 	Write short notes on any two of the following : 2x5=10 

(a) Water Quality Measurement 

(b) Oil Spills 

(c) Energy from city sewage 

	

9. 	Differentiate between the following pairs : 	5x2=10 

(a) Weather and climate 

(b) Natality and Mortality 

(c) Commensalism and Mutualism 

(d) Modern and Traditional Agriculture 

(e) Bronchospasm and Chronic Bronchitis 
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10. (a) What do you understand by database ? List 

the three areas in which environmental 

related database has to be generated and 

write about any one of them, 	 6+4=10 

(b) What do you understand by South - Asian 

Cooperative Environmental Programme 

(SACEP) ? What is the focus of SACEP 
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1. 	(a) 	f- 	t4-ikif t51 -7-1 	ch Oft TT 	11\TR : 	1x5=5 

(i) I 

(ii) -11-3-1-11tfE (Poaching) I 

(iii) V1171 (Carrying Capacity) 

(iv) 1q 1:11-4T 	f-i-zi7ur 

(v) chtui 

(b) tqa.  TRIA *A. 	f : 	 1x5=5 

(i) 	-urrft-47 14 61%11 	 tc-f 

t I 

	Trgrttl 	it f--4-dTur ama-r Tar-Rzl 

34wzia. 	 T.f.TT 

fare ti 
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) 71TINA 	c1 :37“.frR kv1,4 -er7r4 

(w) 	 ff9 	3170 	 

	 t I 1-15 TW1 	 \Ai I ••"1 

v-ggr 	eb4 cfA c1f t- 

(v) 	 (aflatoxin .1 et-011cl 

.711 * 1  

(c) 	'14-'1 Ri 	t(16 t 7 4/c-tri 77i77 : 	1x5=5 

(i) H  TTr 	3T— Iti--1 

3-T-#f--ffu 7) •T11t11 

t I 

(ii) -ch- T7 	 Hcf 	 4-A4f 

•31.1 c c 	cb( 	5-1R4111 

-cr7r  2.ff i74-49 74 

31-r-*--R 	 1-)) 	34-rqqi 

ti 

(iv) T-12.t 	-14,11(.4 	T 75% 	t 1 

(v) 	 6,40-4 	*NT 1-4 :la-47-4 'TT 

"SritIT 	 favcg 

t 
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(d) 1-'1" (1 	-T1 	9/6'4 "Ti 7W WWI 	1
x5=5 

: 

(I) TrH 	T-TFAT' #rfg-74-14 

f-71-14 cf1 ir 

(ii) -q7 	ifti 	ie.1 	q-)-r 	cicufr'slcd -ciqf 

	

1,1 ocTo-h-q -T-cq fti7m 	3fR 

7 -T7 1-1T 1;1 f-*-7r 	fifqff ti# 

(iii) ic1-41 	TT4 11LI ITT 	fq-4 74147 	\tc-i 

.9-74 	31-r-q--di 	.-Err-T-21.  

T-TT 	t 	-51zpi 

3i14#79 l Hill I 

(iv) c 	 yqi24 	i -crF-T-P-rfu 

	t 

(v) 11017T 7iqrt-4 ch.).  V,c11 	

th—tql7 77:1 1.0=1 TIT 31— f 	t TiT4 

11-c-it 911 4-I 	II 	'311d) fi 

2. 	(a) 	trif 	 tT TOcr -a-cria- 	6 

(b) 	trifi--47 	Fc17( t-111(11 qCri-ff 4 
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3. (a) Tr131 14 31NW "4- 1-4R 	q101.  f--Tr4t -g-4Fr -A 	6 

44 	 Tr77 I 

(b) ITIGEW 	-c11( 7p.  +IRIrcir i, f- 9-kci,Rui 17T-2M 	4 

qTffl. 	csi 

4. 01t4,11.-q 9-TT ci,-111,31-111 ,3-Td7)174 14:1T3-Tt? 3i 4i 

fq-W 	7ti 	 a'R1 FaHRIA-Ich 3-11:0t 

3-ftri 	1,4 TreA f9Trci 	An *1 	2+8=10 

5. 41. 	t I 	I ct.>1 	gRI 	 

4=“ur   FIWi 	q4 Ift-if-T-A7I 2+8=10 

6. (a) 	T '31111 '"Rq17.1 cI ci-ql -T-71. 
	 2+8=10 

(b) 
	•7111•1 	fdr-qcff Ala 	FIRM chRulf chf 7*cf 

MTriti 1-;F\711 

7. (a) 	4N-11<VulT1 7--fl 	-Wt-4 frT wq-)R1 -1J■c3-11 	6 

cr, 	r cm 	I 

(b) fq11 	(Chipko Movement) "ff2.IT ql* 	4 

4-11qa (Bombay Natural History 

Society) 	 ciRsql 1L I 
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8. 	rr 4fal-ff ftuToft 	: 
	 2x5,-,1 0 

(a) ,3-1c.•-f TrM114179 1 

(b) lrf chl1chiol (Oil Spills) 1 

(c) -PR 	 1,5T I 

9. 	F-1 4-1F(9-ftg7 ,-111). 	f1*11,-R : 

(a) "IfR:114 3-117 '31Q1II  

(b) -9-97 I 

(c) f9-55Pirr-a1 11 ch! 	Of! 

(d) 3TP1F-9-T 72-1170J-101d Tft-1 

(e) 7—d7:14) -i1 	7.0-11 vff ?r 

5x2=10 

10. 	(a) 	3Trcr 	Tf-R-44 -  ;4: 	c11-1 

717-41-  •zvi-11 	f 71-iilTrri 	#q-f--m -7aT 

fi-Erq -44 friPlY, I 

(b) 	7.fkinT "INI'-11.1 4:4 '61114 11-497TIT 	(SACTI7P 	4 

A 377 ci-q1 7:11-17 	? SACET 

fdls17 'TT 	f7-11 TN( ? 

AHE-01 	 11 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

